- -

HX

Kt

It Trafag BB ABR— U RMCH. FIEM B ERB URBTNEEHH
REEMEENEREEL. FPTEATSEERERMEMIENARNIES
FENZERTIREM, Trafag FFERIRNERRARIET = mBIEEEER

SEEMRRAKERE N,

FZF

o HHHE

’ BRIV

8 IRIZEA
0 KR

0 BERSE

FERR

FEREAEER
TR E VAN 1.4462

TR RS

FPT 8236

TEFRERNEREBRS

BASIE
MERE pihpe ] B @ +25°C RE +0.5%FS BEE
WETE -0.5...0.5F0... 100 bar NRERE -10°C ... +125°C
-5...10F0... 1500 psi
BLES 4..20mA,0..5VDC,1...6 VDC, HRRE -10°C... +125°C
0..10VDC,0.5... 4.5VDCELE B34 PUR: -10°C ... +70°C
NLH @ 25°C (BSL) #2284 (E +0.1% FS H8YF
Trafag sensors & controls Industriestrasse 11 +4144 9223232
Switzerland 8608 Bubikon www.trafag.com

sensors@controls

03/2024

HiER HT2343f

EEE SR



FPT 8236

8236. XX XX XX XX XX XX

MEBE Y BE BE BWEN BE HE 1BHER
[bar] [bar] [bar] [psi] [psi [psi]
-0.4..06 5 75 A6 -5...10 60 90 F5
0.5...05 5 75 A7
1.0 5 75 D4
1.1 5 75 B1
-1..16 5 75 B3
0..1 5 75 71 0..15 60 90 Gl
0..25 5 75 75 0..30 60 9 G5
0.. 8 12 76 0..50 100 150 G6
0..6 12 15 77 0..100 200 250 G7
0..10 20 25 78 0..150 300 375 G8
0..16 32 40 79 0..250 500 625 G9
0..25 50 75 80 0...400 800 1200 HO
0..40 80 100 81 0..500 1000 1250 H1
0..100 200 300 83 0...1500 3000 4500 H3
oS HERED 23
EhiEn G1/2" JMELL, FTHIR, IEKE 93
G1/2" JMELL, FFFARE, 30 mm KE 94
B0 $E5HEL EN 175301-803-A (DIN 43650-A), #4% PA 05
HREHEESE M12x1, 5 5, PA #4% 35
H&$HEk Packard Metri Pack 51
ER45PUR (1B 45153k PA 6-3),-10°C ... +70°C 94 24
RiHES RHES Ak | 1 (fieR) U (fiteR)
4..20 mA (Uf£EB9V) /20 mA (=HHES) 9..32VDC 19
0..5VDC >2.5kQ <20mA 9..32VDC 14
1..6VDC >5.0kQ <20mA 9..32VDC 16
0..10VDC >5.0kQ <20mA 15...32VDC 17
0.5...4.5VDC ratiometrisch ~ >5.0 kQ <20 mA 5(4.75...5.25) VDC 23
Bof B4 FKM 61
$EFLEESLEN175301-803-A (DIN43650-A)/NBR, -40°C ... +90°C, X FEAER 4 ... 9 mm, BiA 3 UL94-VO 46
$EFLEESLEN175301-803-A (DIN 43650-A)/EE#AS, -40°C ... +125°C, SFERAER 4 ... 9 mm, Bk 52 ULI4-V0 56
$EFLEESLEN175301-803-A (DIN43650-A)/NBR, -40°C ... +90°C, X F B4 B2 4 ... 9.5 mm, BHA 53 UL94-V2 58
HFLESL M12x1, 5 33
Y5 | AR R dEE 1+, 15 2 - 0
(S 4... 20 mA FNEBISAFESK EN175301-803-A / DIN43650-A) 2
KRB GAR R B L H, HEE 2 - HAS 3+ o8

((aittfES 14, 16,17, 23 MEBIR AL EN175301-803-A / DIN43650-A) 2
KRS | 4R 1 1+, 165 2 - HE 3 1

(RIS S 14, 16, 17,23 FIEBZ/AHEL EN 175301-803-A / DIN 43650-A) 2 o1
YIRS | &R A 1+, K5 3 -, ST 5 GR -
(M {ES 4..20mA FHE L M12x1, 5 ) 2

YIRS | &R R 1+, HE 3 - ”
(S 4 ... 20 mA FIEBES Ak Packard Metri Pack, 3 £)

YR &R RS 1+, HH 3 - ((VERHEEHEL Packard Metri Pack, 3 ) 2 99
S EOMINTIEE EN175301-803-A (DIN43650-A), BFRZREIE (A 85°C) L9
BAKE 15m M
HAKE3.0m 3M
HAKES50m 5M

VERERENEEMSELE
VFAEES I BRER

) BRSKESIRMY (&K K50 X, 5 XK—FK)
“1P68, & K3m, 715 +10°C ... +35°C

o) ] fHige]

H72343f M 2/6 sensors &) controls



Rt (B SEHAPRAR3E)

FPT 8236

Ems RBKH EHEE RAEE RHES fBE @ +25°C HE(E
[bar] [bar] [%]
FPT1.0A 8236 71 2393 050000 0000 19 58 61 0..1 4...20 mA +1.0
FPT2.5A 8236 752393050000 0000 19 58 61 0..25 4..20mA +05
FPT4.0A 8236 76 2393 05 0000 0000 19 58 61 0..4 4..20mA +05
FPT6.0A 8236 772393 050000 0000 19 58 61 0..6 12 4..20mA +0.5
FPT10.0A 8236 78 2393 050000 0000 19 58 61 0..10 20 4...20 mA +0.5
FPT16.0A 8236 79 2393 050000 0000 19 58 61 0..16 32 4..20mA +0.5
FPT25.0A 8236 802393 050000 0000 19 58 61 0..25 50 4..20mA +05
FPT40.0A 8236 812393050000 0000 19 58 61 0..40 80 4..20mA 105
FPT100.0A 8236832393 050000 0000 19 58 61 0...100 200 4...20mA +0.5
FPT1.0M 8236 712393 350000 0000 19 33 61 0..1 4...20mA +1.0
FPT2.5M 8236 752393 350000 0000 19 33 61 0..25 4...20 mA +0.5
FPT4.0M 8236 76 2393 350000 0000 19 3361 0..4 4..20mA +05
FPT6.0M 8236 772393 350000 0000 19 33 61 0..6 12 4...20mA +05
FPT10.0M 8236 78 2393 350000 0000 19 33 61 0..10 20 4..20mA +0.5
FPT16.0M 8236 792393 350000 0000 19 33 61 0..16 32 4...20mA +0.5
FPT25.0M 8236 802393 350000 0000 19 33 61 0..25 50 4...20mA +0.5
FPT40.0M 8236812393 350000 0000 19 33 61 0..40 80 4..20mA +05
FPT100.0M 8236 832393350000 0000 19 3361 0...100 200 4..20mA +05
S
MENEEE > 2.5 bar <2.5bar
2 30 psi <30 psi
BIRETH @-25...+85°C [% FS FEY(E] +15 +3.0
fBE @ +25°C [% FS HEY(E] +0.5Y +1.02
BRI NHEM= £ EIMET [% FS S8 {E] +0.2 +0.5
NLH @ +25°C (BSL) [% FS HA7E] +0.1 +0.2
TCERREMERTE [% FS/K HLEL(E] +0.01 +0.025
RENBRAFERE TS MBERMM TC) [% FS/K B8 {E] +0.08 +0.25
1 FKEIRE @ +25°C [% FS HEYE] 102 0.5

VBT N AR EIMRTE 0.2 %
2 T NIRRT~ BEIMRETS 0.5 %

T ERTHIERS MRAFRERERAL W, WIEEAT SR HIRARE, EEEMATIATE,

H72343f

$m3/6

sensors@ controls



FPT 8236

BSHE WHES [ fteEBE 4...20 mA:24 (9...32) VDC
0..5VDC:24 (9...32) VDC
1..6VDC:24(9...32) VDC
0...10VDC:24 (15...32) VDC
0.5...45VDC th=
10..90% U,.,:5 £ 0.25VDC

_EFBE BHRYE 1 ms/10... 90 %AFHRES
R 100 ms
RERMERIF, 5285RE @ 25°C, 5 R 4..20 mA:FA U, =32VDC

0..10VDC,0..5VDC,1...6 VDC: A U =28 VDC
0.5..45VDC LEZE A U =14VDC

FREH NREE -10°C...+125°C
FRRE -10°C... +125°C
B4 PUR: -10°C ... +70°C
BhiRELR Y IP65, IP67, IP68
i 15 g RMS (20...2000 Hz) 74 EN 60068-2-64
25 g sin (80...2000 Hz), 1 Okt./min, (1x @ 25°C) fF &
EN 60068-2-6
& 50g/11ms
EMCHE#AY =) EN/IEC 61000-6-3
T EN/IEC 61000-6-2
HiEhE ERSES (1A R) 1.4462 (AISI318 LN)
EAEO (FRNHR) 1.4462 (AISI318 LN), 1.4542
i 1.4542
it FPM (FKM)
58 ~80...110 g (TE4%)
REHE 20...25Nm Tigig

15...20 Nm ;@78

SR
N
EUE*E 2
2.5...100 bar : <2.5 bar
4 8 —
-
3 TN [at—T" Z ~] P
= 2 \\\h T==__ —L—F-= I — 5 ~ [ —
E‘ (1)77777 1| —— 431 S ~ N —
S — I 21 e
S | _+— 14 -~ _ ] >
= = Pt S o o o e s A o B
3 —r® - =S -1
=~ S 2 —
4 <3 [ — — — ——
50 40 -30 20 10 0 10 20 30 40 50 60 70 80 90 100 110 120 130 4 — ] < ——
— ™ 1
Temp. (°C) 3 ;. =
—T T
max. — —  typ.—— 7 <
5 S

50 40 30 20 0 0 10 20 30 40 50 60 70 80 90 100 110 120 130
Temp. (°C)
max. — —  typ.——

H72343f BT 4/6 sensors & controls



FPT 8236

G1/2"
1
018 JT
|

0-Ring @15x2 /

Seal DIN3869,

0295

8236.XX.XX.93.05.XX.XX

25 102 2 205 02 255
‘ N

AT

0-Ring @15x2 —
1.4305 Seal DIN3869 2
(St

8236.XX.XX.93.51.XX.XX

=
r

G112
018
T
|
1
|
T
61/2

0-Ring @15x2 / —
Seal DIN3869 o
S

8236.XX.XX.93.35.XX.XX

Sw27 |
027

2

K

HEX27 |

~
2

205 392 min. 35.2
2
T <]
o= B ) - =
— ©

0-Ring 015x2 /

Seal DIN3869,

0295
Sw27
027

8236.XX.XX.93.24.XX.XX

30

=]

+02
0
\
T
\
\
|
\
G1/2"

pitch diameter

0182
5
>

021.3 92 90°

RRBQGL/2" iEKE (I1210 93)
DINEN SO 1179-1

G1/2"
018
|
I

0-Ring @15x2 /

8236.XX.XX.94.05.XX.XX

30 36.2 21 30 36.2 255

i *

(==}
= I
0-Ring @15x2 /
Seal DIN3869 :

0-Ring @15x2 / /
1.4305 Seal DIN3869 :
8236.XX.XX.94.35.XX.XX

8236.XX.XX.94.51.XX.XX

G1/2"
G1/2"

JIEIN

s I 171

HEX27
027

ST 1771

029
HEX27
027
029

G1/2"
@18
=

0-Ring 015x2 /

Seal DIN3869,

8236.XX.XX.94.24.XX.XX

5.5 27

37

|
(]
_J

1)

M3

1) Tightening torque 50...60 Ncm

8236.XX.XXXX.XX.XX.46/56

H72343f

min. 35.2 min. 30.5
[<] 2455
el F— é 20
—\ I =
©

Ra 1.6
sealing surface

REEY G1/2" 30 mm KE (F24EN 94)
DINEN ISO 1179-1

>{=]
\

G1/2"

pitch diameter

018.2 0’
5
=

021.3 02x90°

5.5 27

54....60 ‘ 950

36

21

M3

1)

1)Tightening torque 50...60 Ncm G1/2" RIS AREKE
AISI 316L (1.4404/1.4435)

8236.XX.XXXX.XX.XX.58 11155 F82060

8236.XX.XXXX.XX.XX.33

B 5/6 sensors@controls



FPT 8236

BRSO
PP SR S
IP65*) **) IP67/1P68 **) IP67*) **) IP67*) **
max. 3m
Turimg Ha 4% M12x1 Packard Metri Pack
EN175301-803A 5- 1k 3-1k
05 24 35
] 32
5
4@ ’
1
L 92 Lidi:3 9% E4
P -—H—@ Us (pos. Supply) 2 1 HE 4 1 1
mmA-—:—:—@ Us (neg. Supply) 1 2 iFe 1 3 2 3
| 1—-—\—'—@ Earth (housing) S} O # 5 5
T Shielg**®
8236.XX.XXXX.XX.19
= forDC e | 98 | 97 99
24 [ 1 Suppl @
P T ) 2 311 e 2 1 1
S S:rmn g 3 1|3 Ba 4 3 2
A
U .——b‘-@ Earth (housing) é (E) (E) ﬁg g 2 3
&~~~ Shield ***) =
8236.XX.XXXX.XX.14/16/17/23

* BRSO 05/35/51 {ERIRBMERENREAZEN
b PR E 2
(Y B4 T mm T R O R AR LI K

X WIER www.trafag.com/H72343
#B{EiRA www.trafag.com/H73343
IMRF www.trafag.com/H70612

H72343f 2871 6/6 sensors & controls



